Drysdale Primary School. Drysdale, VIC

58 Clifton Springs Rd, Drysdale, 3222

2024 Requirements List for Year 3 Your Access Key: 4QZ5R



Please order online at wincschools.com.au

At Winc we want your child to have a strong start to the new school year, which is why we have worked with your school to make Back to School hassle free.

Ordering made simple.

We've made it quick and easy to order your child's new year requirements. Simply visit **wincschools.com.au** and follow these four steps.

- Search for your school, Drysdale Primary School. Drysdale, VIC and enter your school access key 4QZ5R if required
- 2. Complete the student's details and select Year 3.
- Review your requirements list and make changes if required.
 Please note: some list items have been denoted by your school as a prerequisite for the subject or year.
- 4. Proceed to checkout.

Please note: For home deliveries only, if you have more than one student at the same school, please repeat the above steps.

Once completed, an order confirmation will be sent to your email address.

Please note: Any technology items you order may be sent separately.

Deadlines and delivery information.

Home delivery:

Delivery Fees:

Free Delivery: for orders placed on or before 8 December 2023; \$10.95 delivery: for orders placed after 8 December 2023.

Australia Post

Orders are delivered via Australia Post's eParcel service. As soon as your order is dispatched an email will be sent to let you know the Australia Post tracking ID Number. Your order can be tracked at auspost.com.au.

Note: PO Box addresses are not accepted by Australia Post.

Payment methods accepted









Have a question?

For assistance with your order, returns and refunds and delivery information, or for a general enquiry, please visit wincschools.com.au/helpcentre

To view our full terms and conditions, please visit wincschools.com.au/termsandconditions.



Drysdale Primary School Address: 52-66 Clifton Springs Rd, (PO Box 122), Drysdale Vic 3222

Phone: 03 5251 2272

Email:

drysdale.ps@education.vic.gov.au www.drysdaleps.vic.edu.au

Door	Parent/	Caror
vear	Parent/	carer.

Drysdale Primary School is looking forward to another great year of teaching and learning and would like to advise you of Drysdale Primary School's voluntary financial contributions for 2024.

Schools provide students with free instruction to fulfil the standard curriculum requirements and we want to assure you that all contributions are voluntary. Nevertheless, the ongoing support of our families ensures that our school can offer the best possible education and support for our students. We want to thank you for all your support, whether that is through fundraising or volunteering your time – we appreciate it greatly. This has a profound and positive impact on our school and the programs we are able to offer.

Underpinning our vision for success is a commitment that all students have access to opportunities to succeed, regardless of their background or circumstances. This enables an approach to educational achievement, engagement and wellbeing which draws on best practice evidence and is responsive to local circumstances and needs.

Drysdale Primary School works in close partnership with our Parent/Carer community and the broader school community to provide the best educational opportunities and outcomes for students, both inside and outside the classroom. Through this partnership Parents/Carers understand that the contribution they make to their children's education in all its various forms has an important role in enriching our learning and teaching programs and improving educational outcomes.

Full Parent Payment Information is available on the school website and Sentral Parent App/Porta
Yours sincerely,

Glen Lauder Julie Penfold

School Council President Principal

Drysdale Primary School. Drysdale, VIC 58 Clifton Springs Rd, Drysdale, 3222

2024 Requirements List for Year 3 Your Access Key: 4QZ5R



	CODE	DESCRIPTION	QTY	PRICE	TOTAL		
Stationery							
Recomn	nended Ite	ems					
	25131922	Writer Premium A4 Exercise Book 14mm Dotted Thirds 96 Pages	5	\$1.68	\$8.40		
	73340700	Winc Plastic Ruler 30cm Clear	2	\$0.36	\$0.72		
	25090966	Faber-Castell Connector Pens Assorted Colours Pack 12	1	\$3.95	\$3.95		
	10005235	Maped Shaker Pencil Sharpener 2 Hole Assorted Each	1	\$0.78	\$0.78		
	25095934	Faber-castell Textliner Ice Highlighter Chisel Tip Yellow	1	\$1.10	\$1.10		
	25163892	Faber-Castell Hexagonal Colour Pencils Assorted Pack 12	1	\$3.33	\$3.33		
	27633000	Winc Eraser PVC-Free Standard Office 60 x 21 x 10 mm Each	2	\$0.25	\$0.50		
	25095941	Faber-castell Textliner Ice Highlighter Chisel Tip Green	1	\$1.10	\$1.10		
	87142915	Winc Glue Stick 40g	2	\$1.02	\$2.04		
	18960578	PaperMate Inkjoy Capped Ballpoint Pen Medium 1.0mm Red Each	2	\$0.43	\$0.86		
	25097502	Teter Mek A4 Grid Book 10mm Grid 56GSM 96 Pages	2	\$1.02	\$2.04		
	18894990	Westcott Student Antimicrobial Scissors 178mm Assorted Colours	1	\$1.96	\$1.96		
	25093106	Winc Display Book A4 Non-Refillable 40 Pocket Blue	1	\$3.82	\$3.82		
	25090968	Winc Handy Pouch Plastic Pencil Case Mesh Zip A4 345 x 240mm Clear	1	\$2.23	\$2.23		
	25095990	Staedtler Natural HB Pencil Each	12	\$0.32	\$3.84		
	25090934	Winc Megaspace Scrapbook 335x245mm 100gsm Plain 64 Pages	2	\$1.09	\$2.18		
	18960577	PaperMate Inkjoy Capped Ballpoint Pen Medium 1.0mm Blue Each	2	\$0.43	\$0.86		
	25095960	Post-it Notes 76 x 76mm Yellow 100 Sheets Each	5	\$2.70	\$13.50		
	25095935	Post-it Notes 35 x 48mm Canary Yellow 100 Sheets Each	6	\$1.28	\$7.68		
					al: \$60.8		
Curricul	um Contri	butions (Section A)					
	25181354	LV Art	1	\$20.00	\$20.00		
		Paint, crayons, canvas, card stock, glitter, clay and other materials etc.(Supplied in the classroom)					
	25181261	LV LOTE Indonesian	1	\$10.00	\$10.00		
		Exercise book, craft paper, craft masks, pencils, glue. (Supplied in the classroom)					
	25167989	LV Performing Art	1	\$10.00	\$10.00		
		Craft paper, cardboard, pencils, paint.(Supplied in the classroom)					
	25155433	LV Physical Education P.E	1	\$5.00	\$5.00		
		Sports equipment & Sporting Schools Vic subscription. (Supplied at school)					
	25190562	LV Inquiry	1	\$10.00	\$10.00		
		Craft items, materials for construction, textiles, PVA glue etc.(Supplied in the classroom)					
	25144103	LV School Diary	1	\$12.00	\$12.00		
		This diary will be used by students daily and will be handed out at school.					
	25179789	LV Printing And Photocopying Of Worksheets And Learning Materials	1	\$20.00	\$20.00		
			Total: \$87.				



Drysdale Primary School. Drysdale, VIC 58 Clifton Springs Rd, Drysdale, 3222

2024 Requirements List for Year 3 Your Access Key: 4QZ5R



	CODE	DESCRIPTION	QTY	PRICE	TOTAL	
Online Le	earning S	ubscriptions				
	25154689	LV Essential Assessment Mathematics	1	\$10.00	\$10.00	
		Online Maths program used by all students. (Access is provided at school)				
	25201482	LV Reading Eggs English	1	\$24.00	\$24.00	
		Online Reading and Literacy program used by all students. (Access is provided at school)				
			Total: \$34.00			
Whole So	chool Eve	ents				
	25190614	LV Athletics Carnival	1	\$10.00	\$10.00	
	25190620	LV Drysdale Primary School Concert	1	\$5.00	\$5.00	
				Tot	al: \$15.00	
Other Co	ntributio	ns (Section B)				
	25178601	LV School Grounds Maintenance and Improvements	1	\$20.00	\$20.00	
		Funds will assist with the continual maintenance of the gardens, lawns and school grounds.				
	25190592	LV Enhanced Student Wellbeing Support	1	\$15.00	\$15.00	
		Funds will assist with wellbeing resources and programs.				
	25179791	LV Sentral Communication Program	1	\$10.00	\$10.00	
		Funds will assist with the cost of Sentral - the online parent communication platform used by all families.				
				Tot	al: \$45.00	
Extra-Cu	rricular It	ems & Activities (Section C)				
		d activities provided on a user-pays basis. They can be prepaid with you	r booklist o	r paid durin	the vear	
111000 010 07	tira nomo ana	a destribute provided on a destripaçõe sacio. Trios can so propaia mar you		para aaring	y and your	
	25143203	LV School Magazine	1	\$20.00	\$20.00	
		The school magazine features highlights of the school year, student artwork, stories, photos and celebrations of the year that was, preserving special memories of your child's school year.				
			Total: \$20.00			